BID TABULATIONS

Contract No:DH00344

WBS No:17BP.8.R.992

County:Randolph Bridge No. 38 in Randolph County

Bid Opening Date: 5/24/2022 at 2:00 PM

				DELLING	CED INC	ελςτερνίςτε	RUCTURES LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$50,000.00	\$50,000.00	\$54,000.00	\$54,000.00
2	Construction Surveying	1.00	LS	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00
3	Supplemental Clearing and Grubbing	1.00	Acre	\$1.00	\$1.00	\$100.00	\$100.00
4	Type II Modified Approach Fill, Station -L- 12+45	1.00	LS	\$10,000.00	\$10,000.00	\$13,000.00	\$13,000.00
5	Undercut Excavation	200.00	CY	\$1.00	\$200.00	\$10.00	\$2,000.00
6	Grading	1.00	LS	\$106,805.00	\$106,805.00	\$72,000.00	\$72,000.00
7	Select Granular Material	100.00	CY	\$1.00	\$100.00	\$35.00	\$3,500.00
8	Geotextile for Soil Stabilization	100.00	SY	\$2.50	\$250.00	\$3.00	\$300.00
9	Foundation Conditioning Material, Minor Structures	20.00	Tons	\$32.00	\$640.00	\$35.00	\$700.00
10	Foundation Conditioning Geotextile	50.00	SY	\$2.50 \$125.00	\$3.00	\$150.00	
11	12" Drainage Pipe	12.00	LF	\$63.00	\$756.00	\$55.00	\$660.00
12	15" Drainage Pipe	12.00	LF	\$84.25	\$1,011.00	\$65.00	\$780.00
13	18" Drainage Pipe	68.00	LF	\$82.00	\$5,576.00	\$85.00	\$5,780.00
14	15" Side Drain Pipe	28.00	LF	\$84.25	\$2,359.00	\$65.00	\$1,820.00
15	18" RC Pipe Culverts, Class III	16.00	LF	\$110.00	\$1,760.00	\$90.00	\$1,440.00
16	15" RC Pipe Culverts, Class IV	8.00	LF	\$90.00	\$720.00	\$100.00	\$800.00
17	Pipe Clean Out	1.00	EA	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00
18	Geotextile for Pavement Stabilization	100.00	SY	\$2.50	\$250.00	\$3.00	\$300.00
19	Incidental Stone Base	100.00	Tons	\$32.00	\$3,200.00	\$45.00	\$4,500.00
20	Incidental Milling	170.00	SY	\$24.95	\$4,241.50	\$50.00	\$8,500.00
		Bid_T	ab	_			Page 1 of 12

ITEM NO.	ITEM	QUANTITY	UNITS	DELLING UNIT PRICE	GER INC AMOUNT BID	EASTERN STR UNIT PRICE	UCTURES LLC AMOUNT BID
	Asphalt Conc. Base Course, Type B25.0C	110.00	Tons	\$130.00	\$14,300.00	\$175.00	\$19,250.00
	Asphalt Conc. Intermediate Course, Type I25.0C	120.00	Tons	\$130.00	\$15,600.00	\$175.00	\$21,000.00
	Asphalt Conc. Surface Course, Type S9.5B	190.00	Tons	\$130.00	\$24,700.00	\$175.00	\$33,250.00
	Asphalt Binder for Plant Mix PG 64-22	25.00	Tons	\$960.00	\$24,000.00	\$980.00	\$24,500.00
	Right-of-Way Markers	9.00	EA	\$275.00	\$2,475.00	\$400.00	\$3,600.00
	Subdrain Excavation	33.60	CY	\$1.00	\$33.60	\$25.00	\$840.00
	Geotextile for Subsurface Drain	200.00	SY	\$0.01	\$2.00	\$2.00	\$400.00
	Subdrain Coarse Aggregate	33.60	CY	\$1.00	\$33.60	\$2.00	\$67.20
	6" Perforated Subdrain Pipe	200.00	LF	\$1.00	\$200.00	\$2.00	\$400.00
	Subdrain Pipe Outlet	1.00	Each	\$1.00	\$1.00	\$150.00	\$150.00
	6" Outlet Pipe	6.00	LF	\$1.00	\$6.00	\$10.00	\$60.00
	Pipe Collars	0.80	CY	\$3,500.00	\$2,800.00	\$2,000.00	\$1,600.00
	Masonary Drainage Structures	5.00	Each	\$1,500.00	\$7,500.00	\$2,000.00	\$10,000.00
	Frame with Two Grates, Std 840.29	4.00	Each	\$700.00	\$2,800.00	\$750.00	\$3,000.00
	Manhole Frame with Cover, Std 840.54	1.00	Each	\$650.00	\$650.00	\$750.00	\$750.00
	Shoulder Berm Gutter	45.00	LF	\$51.46	\$2,315.70	\$50.00	\$2,250.00
37	2'-6" Concrete Gutter	80.00	LF	\$56.65	\$4,532.00	\$100.00	\$8,000.00
38	Steel Beam Guardrail	50.00	LF	\$26.00	\$1,300.00	\$30.00	\$1,500.00
39	Additional Guardrail Posts	5.00	Each	\$10.00	\$50.00	\$20.00	\$100.00
40	Guardrail Anchor Units, Type III	4.00	Each	\$2,300.00	\$9,200.00	\$2,600.00	\$10,400.00
	Guardrail End Units, Type TL-2	4.00	Each	\$3,200.00	\$12,800.00	\$3,600.00	\$14,400.00
42	Rip Rap, Class I	2.00	Ton	\$142.00	\$284.00	\$500.00	\$1,000.00
43	Rip Rap, Class II	200.00	Ton	\$51.00	\$10,200.00	\$60.00	\$12,000.00
44	Rip Rap, Class A	6.00	Ton	\$37.00	\$222.00	\$100.00	\$600.00
45	Rip Rap, Class B	1.00	Ton	\$150.00	\$150.00	\$1,000.00	\$1,000.00
46	Geotextile For Drainage	254.00	SY	\$2.50	\$635.00	\$3.00	\$762.00
47	Temporary Traffic Control	1.00	LS	\$7,800.00	\$7,800.00	\$9,000.00	\$9,000.00
48	Paint Pavement Marking Lines (4")	2,800.00	LF	\$1.65	\$4,620.00	\$2.50	\$7,000.00
49	Permanent Raised Pavement Markers	5.00	EA	\$10.00	\$50.00	\$100.00	\$500.00
50	2" Water Line	5.00	LF	\$400.00	\$2,000.00	\$100.00	\$500.00
51	6" Water Line	335.00	LF	\$150.00	\$50,250.00	\$200.00	\$67,000.00
52	Ductile Iron Water Pipe Fittings	1,410.00	LB	\$15.00	\$21,150.00	\$12.00	\$16,920.00
53	6" Valve	2.00 Bid_T	EA	\$15,000.00	\$30,000.00	\$2,500.00	\$5,000.00 Page 2 of 12

ITEM NO.	ITEM	QUANTITY	UNITS	DELLIN UNIT PRICE	IGER INC AMOUNT BID	EASTERN ST	RUCTURES LLC AMOUNT BID
	8" Sanitary Gravity Sewer	39.00	LF	\$300.00	\$11,700.00	\$650.00	
55		132.00	LF LF	\$350.00	\$46,200.00	\$360.00	,
56	12" Sanitary Gravity Sewer			· · · · ·	· · · · ·	\$300.00	\$47,520.00
30	4' Dia. Utility Manhole	2.00	EA	\$7,800.00	\$15,600.00	\$13,000.00	\$30,000.00
57	Utility Manhole Wall, 4' Dia.	12.30	LF	\$850.00	\$10,455.00	\$200.00	\$2,460.00
58	Abandon 6" Utility Pipe	79.00	LF	\$50.00	\$3,950.00	\$30.00	\$2,370.00
59	Abandon 8" Utility Pipe	155.00	LF	\$55.00	\$8,525.00	\$30.00	\$4,650.00
60	Abandon 10" Utility Pipe	46.00	LF	\$55.00	\$2,530.00	\$35.00	\$1,610.00
61	Abandon 12" Utility Pipe	87.00	LF	\$55.00	\$4,785.00	\$35.00	. ,
62	Remove Utility Manhole	1.00	EA	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00
63	16" Encasement Pipe	59.00	LF	\$275.00	\$16,225.00	\$310.00	\$18,290.00
64	Sewer Bypass Pumping	1.00	LS	\$70,000.00	\$70,000.00	\$10,000.00	\$10,000.00
65	Temporary Silt Fence	500.00	LF	\$3.25	\$1,625.00	\$5.50	\$2,750.00
66	Stone For Erosion Control, Class A	120.00	Ton	\$1.00	\$120.00	\$10.00	\$1,200.00
67	Stone For Erosion Control, Class B	155.00	Ton	\$39.00	\$6,045.00	\$10.00	\$1,550.00
68	Sediment Control Stone	115.00	Ton	\$35.00	\$4,025.00	\$10.00	\$1,150.00
69	Temporary Mulching	0.50	Acre	\$1,500.00	\$750.00	\$2,500.00	\$1,250.00
70	Seed for Temporary Seeding	100.00	LB	\$2.00	\$200.00	\$10.00	\$1,000.00
71	Fertilizer For Temporary Seedings	0.50	Ton	\$100.00	\$50.00	\$4,000.00	\$2,000.00
72	Temporary Slope Drains	200.00	LF	\$1.00	\$200.00	\$5.00	\$1,000.00
73	Safety Fence	320.00	LF	\$3.00	\$960.00	\$5.00	\$1,600.00
74	Silt Excavation	190.00	CY	\$10.00	\$1,900.00	\$7.00	\$1,330.00
75	Matting for Erosion Control	60.00	SY	\$3.00	\$180.00	\$20.00	\$1,200.00
76	Coir Fiber Mat	100.00	SY	\$7.00	\$700.00	\$15.00	\$1,500.00
77	Permanent Soil Reinforcement Matting	100.00	SY	\$9.00	\$900.00	\$15.00	\$1,500.00
78	1/4" Hardware Cloth	285.00	LF	\$5.00	\$1,425.00	\$10.00	\$2,850.00
79	Wattle Barrier	41.00	LF	\$12.00	\$492.00	\$20.00	\$820.00
80	Polyacrylamide (PAM)	25.00	LB	\$12.00	\$300.00	\$10.00	\$250.00
81	Seeding and Mulching	0.50	ACR	\$4,500.00	\$2,250.00	\$6,000.00	\$3,000.00
82	Mowing	0.50	ACR	\$100.00	\$50.00	\$100.00	\$50.00
83	Seed for Repair Seeding	50.00	LB	\$2.00	\$100.00	\$10.00	\$500.00
84	Fertilizer for Repair Seeding	0.25 Bid_T	ab Ton	\$100.00	\$25.00	\$4,000.00	Page 3 \$1 2000.00

				DELLIN	GER INC	FASTERN STR	RUCTURES LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
85	Seed For Supplemental Seeding	50.00	LB	\$2.00	\$100.00	\$10.00	\$500.00
86	Fertilizer Topdressing	0.25	Ton	\$100.00	\$25.00	\$4,000.00	\$1,000.00
87	Impervious Dike	183.00	LF	\$35.00	\$6,405.00	\$60.00	\$10,980.00
88	Specialized Hand Mowing	10.00	MHR	\$50.00	\$500.00	\$100.00	\$1,000.00
89	Response for Erosion Control	25.00	EA	\$150.00	\$3,750.00	\$200.00	\$5,000.00
90	Concrete Washout Structure	2.00	EA	\$400.00	\$800.00	\$600.00	\$1,200.00
91	Removal of Existing Structure at Sta. 12+45 (617 SF)	1.00	LS	\$20,000.00	\$20,000.00	\$113,650.00	\$113,650.00
92	Asbestos Assessment	1.00	LS	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00
93	Pile Excavation in Soil	94.00	LF	\$290.00	\$27,260.00	\$650.00	\$61,100.00
94	Pile Exacavation Not in Soil	46.00	LF	\$290.00	\$13,340.00	\$650.00	\$29,900.00
95	Unclassified Structure Excavation at Sta. 12+45	1.00	LS	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00
96	Class A Concrete (Bridge)	43.20	CY	\$1,500.00	\$64,800.00	\$1,000.00	\$43,200.00
97	Bridge Approach Slabs, Station 12+45	1.00	LS	\$24,000.00	\$24,000.00	\$24,000.00	\$24,000.00
98	Reinforcing Steel (Bridge)	5,272.00	LB	\$2.00	\$10,544.00	\$2.00	\$10,544.00
99	Pile Driving Equipment Setup for HP 12X53 Steel Piles	14.00	EA	\$1.00	\$14.00	\$1.00	\$14.00
100	HP 12X53 Steel Piles	170.00	LF	\$60.00	\$10,200.00	\$60.00	\$10,200.00
101	Vertical Concrete Barrier Rail	90.25	LF	\$250.00	\$22,562.50	\$200.00	\$18,050.00
102	Rip Rap Class II (2'-0" Thick)	180.00	Ton	\$65.00	\$11,700.00	\$60.00	\$10,800.00
103	Geotextile for Drainage	200.00	SY	\$4.00	\$800.00	\$3.00	\$600.00
104	Elastomeric Bearings	1.00	LS	\$8,000.00	\$8,000.00	\$3,200.00	\$3,200.00
105	3'-0" X 1'-9" Prestressed Conc. Cored Slabs	495.00	LF	\$260.00	\$128,700.00	\$206.00	\$101,970.00

\$1,039,921.90

\$1,084,832.20

Bidder No. 1: DELLINGER INC

Bidder No. 2: EASTERN STRUCTURES LLC

Bidder No. 3: HUNTING CREEK CONSTRUCTION

INC

Bidder No. 4: FSC II LLC DBA FRED SMITH COMPANY

Bidder No. 5: SMITH-ROWE, LLC

BID TABULATIONS

Contract No:DH00344

WBS No:17BP.8.R.992

County:Randolph Bridge No. 38 in Randolph County

Bid Opening Date: 5/24/2022 at 2:00 PM

				HUNTING	G CREEK	FSC II LLC DE	A FRED SMITH
				CONSTRUC	CTION INC	COM	IPANY
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$56,500.00	\$56,500.00	\$59,750.00	\$59,750.00
2	Construction Surveying	1.00	LS	\$12,500.00	\$12,500.00	\$11,000.00	\$11,000.00
3	Supplemental Clearing and Grubbing	1.00	Acre	\$0.01	\$0.01	\$1.00	\$1.00
4	Type II Modified Approach Fill, Station -L- 12+45	1.00	LS	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00
5	Undercut Excavation	200.00	CY	\$27.00	\$5,400.00	\$58.62	\$11,724.00
6	Grading	1.00	LS	\$165,185.00	\$165,185.00	\$70,000.00	\$70,000.00
7	Select Granular Material	100.00	CY	\$55.00	\$5,500.00	\$80.00	\$8,000.00
8	Geotextile for Soil Stabilization	100.00	SY	\$2.55	\$255.00	\$4.00	\$400.00
9	Foundation Conditioning Material, Minor Structures	20.00	Tons	\$44.00	\$880.00	\$75.00	\$1,500.00
10	Foundation Conditioning Geotextile	50.00	SY	\$5.00	\$250.00	\$4.00	\$200.00
11	12" Drainage Pipe	12.00	LF	\$48.00	\$576.00	\$95.00	\$1,140.00
12	15" Drainage Pipe	12.00	LF	\$62.00	\$744.00	\$100.00	\$1,200.00
13	18" Drainage Pipe	68.00	LF	\$68.00	\$4,624.00	\$100.00	\$6,800.00
14	15" Side Drain Pipe	28.00	LF	\$68.00	\$1,904.00	\$65.00	\$1,820.00
15	18" RC Pipe Culverts, Class III	16.00	LF	\$69.00	\$1,104.00	\$80.00	\$1,280.00
16	15" RC Pipe Culverts, Class IV	8.00	LF	\$69.00	\$552.00	\$90.00	\$720.00
17	Pipe Clean Out	1.00	EA	\$3,200.00	\$3,200.00	\$2,500.00	\$2,500.00
18	Geotextile for Pavement Stabilization	100.00	SY	\$3.00	\$300.00	\$4.00	\$400.00
19	Incidental Stone Base	100.00	Tons	\$39.50	\$3,950.00	\$55.00	\$5,500.00
20	Incidental Milling	170.00	SY	\$35.00	\$5,950.00	\$32.72	\$5,562.40
		Bid_Ta	ab	· · · ·			Page 5 of 12

					IG CREEK JCTION INC		BA FRED SMITH IPANY
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
21	Asphalt Conc. Base Course, Type B25.0C	110.00	Tons	\$130.00	\$14,300.00	\$113.00	\$12,430.00
22	Asphalt Conc. Intermediate Course, Type I19.0C	120.00	Tons	\$130.00	\$15,600.00	\$113.00	\$13,560.00
23	Asphalt Conc. Surface Course, Type S9.5B	190.00	Tons	\$130.00	\$24,700.00	\$150.00	\$28,500.00
24	Asphalt Binder for Plant Mix PG 64-22	25.00	Tons	\$960.00	\$24,000.00	\$795.70	\$19,892.50
25	Right-of-Way Markers	9.00	EA	\$250.00	\$2,250.00	\$525.00	\$4,725.00
26	Subdrain Excavation	33.60	CY	\$5.00	\$168.00	\$20.00	\$672.00
27	Geotextile for Subsurface Drain	200.00	SY	\$3.25	\$650.00	\$2.00	\$400.00
28	Subdrain Coarse Aggregate	33.60	CY	\$68.50	\$2,301.60	\$50.00	\$1,680.00
29	6" Perforated Subdrain Pipe	200.00	LF	\$24.00	\$4,800.00	\$15.00	\$3,000.00
30	Subdrain Pipe Outlet	1.00	Each	\$275.00	\$275.00	\$350.00	\$350.00
31	6" Outlet Pipe	6.00	LF	\$18.00	\$108.00	\$49.00	\$294.00
32	Pipe Collars	0.80	CY	\$3,200.00	\$2,560.00	\$3,000.00	\$2,400.00
33	Masonary Drainage Structures	5.00	Each	\$4,500.00	\$22,500.00	\$3,500.00	\$17,500.00
34	Frame with Two Grates, Std 840.29	4.00	Each	\$950.00	\$3,800.00	\$1,000.00	\$4,000.00
35	Manhole Frame with Cover, Std 840.54	1.00	Each	\$750.00	\$750.00	\$1,000.00	\$1,000.00
36	Shoulder Berm Gutter	45.00	LF	\$92.00	\$4,140.00	\$90.00	\$4,050.00
37	2'-6" Concrete Gutter	80.00	LF	\$92.00	\$7,360.00	\$47.25	\$3,780.00
38	Steel Beam Guardrail	50.00	LF	\$26.00	\$1,300.00	\$30.00	\$1,500.00
39	Additional Guardrail Posts	5.00	Each	\$10.00	\$50.00	\$1.00	\$5.00
40	Guardrail Anchor Units, Type III	4.00	Each	\$2,300.00	\$9,200.00	\$2,650.00	\$10,600.00
41	Guardrail End Units, Type TL-2	4.00	Each	\$3,200.00	\$12,800.00	\$3,950.00	\$15,800.00
42	Rip Rap, Class I	2.00	Ton	\$48.00	\$96.00	\$230.00	\$460.00
43	Rip Rap, Class II	200.00	Ton	\$56.00	\$11,200.00	\$105.00	\$21,000.00
44	Rip Rap, Class A	6.00	Ton	\$46.00	\$276.00	\$105.00	\$630.00
45	Rip Rap, Class B	1.00	Ton	\$48.00	\$48.00	\$250.00	\$250.00
46	Geotextile For Drainage	254.00	SY	\$2.50	\$635.00	\$3.00	\$762.00
47	Temporary Traffic Control	1.00	LS	\$5,250.00	\$5,250.00	\$6,500.00	\$6,500.00
48	Paint Pavement Marking Lines (4")	2,800.00	LF	\$0.80	\$2,240.00	\$0.65	\$1,820.00
49	Permanent Raised Pavement Markers	5.00	EA	\$15.00	\$75.00	\$25.00	\$125.00
50	2" Water Line	5.00	LF	\$400.00	\$2,000.00	\$400.00	\$2,000.00
51	6" Water Line	335.00	LF	\$150.00	\$50,250.00	\$150.00	\$50,250.00
52	Ductile Iron Water Pipe Fittings	1,410.00	LB	\$15.00	\$21,150.00	\$15.00	\$21,150.00
53	6" Valve	2.00 Bid Ta	EA	\$15,000.00	\$30,000.00	\$15,000.00	\$30,000.00

				HUNTING			BA FRED SMITH IPANY
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
54	8" Sanitary Gravity Sewer	39.00	LF	\$300.00	\$11,700.00	\$300.00	\$11,700.00
55	12" Sanitary Gravity Sewer	132.00	LF	\$350.00	\$46,200.00	\$350.00	\$46,200.00
56	4' Dia. Utility Manhole	2.00	EA	\$7,800.00	\$15,600.00	\$7,800.00	\$15,600.00
57	Utility Manhole Wall, 4' Dia.	12.30	LF	\$850.00	\$10,455.00	\$850.00	\$10,455.00
58	Abandon 6" Utility Pipe	79.00	LF	\$50.00	\$3,950.00	\$50.00	\$3,950.00
59	Abandon 8" Utility Pipe	155.00	LF	\$55.00	\$8,525.00	\$55.00	\$8,525.00
60	Abandon 10" Utility Pipe	46.00	LF	\$55.00	\$2,530.00	\$55.00	\$2,530.00
61	Abandon 12" Utility Pipe	87.00	LF	\$55.00	\$4,785.00	\$55.00	\$4,785.00
62	Remove Utility Manhole	1.00	EA	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
63	16" Encasement Pipe	59.00	LF	\$275.00	\$16,225.00	\$275.00	\$16,225.00
64	Sewer Bypass Pumping	1.00	LS	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00
65	Temporary Silt Fence	500.00	LF	\$2.50	\$1,250.00	\$3.50	\$1,750.00
66	Stone For Erosion Control, Class A	120.00	Ton	\$0.01	\$1.20	\$1.00	\$120.00
67	Stone For Erosion Control, Class B	155.00	Ton	\$0.01	\$1.55	\$40.00	\$6,200.00
68	Sediment Control Stone	115.00	Ton	\$0.01	\$1.15	\$30.00	\$3,450.00
69	Temporary Mulching	0.50	Acre	\$800.00	\$400.00	\$2,800.02	\$1,400.01
70	Seed for Temporary Seeding	100.00	LB	\$2.50	\$250.00	\$7.50	\$750.00
71	Fertilizer For Temporary Seedings	0.50	Ton	\$2,000.00	\$1,000.00	\$2,100.02	\$1,050.01
72	Temporary Slope Drains	200.00	LF	\$0.01	\$2.00	\$1.00	\$200.00
73	Safety Fence	320.00	LF	\$2.50	\$800.00	\$3.00	\$960.00
74	Silt Excavation	190.00	CY	\$0.01	\$1.90	\$2.00	\$380.00
75	Matting for Erosion Control	60.00	SY	\$5.00	\$300.00	\$3.50	\$210.00
76	Coir Fiber Mat	100.00	SY	\$9.00	\$900.00	\$3.00	\$300.00
77	Permanent Soil Reinforcement Matting	100.00	SY	\$9.00	\$900.00	\$15.00	\$1,500.00
78	1/4" Hardware Cloth	285.00	LF	\$10.00	\$2,850.00	\$5.00	\$1,425.00
79	Wattle Barrier	41.00	LF	\$12.00	\$492.00	\$30.00	\$1,230.00
80	Polyacrylamide (PAM)	25.00	LB	\$0.01	\$0.25	\$12.00	\$300.00
81	Seeding and Mulching	0.50	ACR	\$2,600.00	\$1,300.00	\$6,800.02	\$3,400.01
82	Mowing	0.50	ACR	\$0.10	\$0.05	\$800.02	\$400.01
83	Seed for Repair Seeding	50.00	LB	\$2.50	\$125.00	\$14.00	\$700.00
84	Fertilizer for Repair Seeding	0.25 Bid_Ta	b Ton	\$2,000.00	\$500.00	\$3,800.04	Page 7 of \$950.01

				HUNTING CREEK CONSTRUCTION INC			A FRED SMITH
ITEM NC	ITEM	QUANTITY	UNITS	CONSTRU UNIT PRICE	CTION INC AMOUNT BID	UNIT PRICE	IPANY AMOUNT BID
85		<u>`</u>		\$2.50	\$125.00	\$8.00	\$400.00
	Seed For Supplemental Seeding	50.00	LB				
86	Fertilizer Topdressing	0.25	Ton	\$2,000.00	\$500.00	\$2,800.04	\$700.01
87	Impervious Dike	183.00	LF	\$0.01	\$1.83	\$86.56	\$15,840.48
88	Specialized Hand Mowing	10.00	MHR	\$0.01	\$0.10	\$85.00	\$850.00
89	Response for Erosion Control	25.00	EA	\$0.01	\$0.25	\$50.00	\$1,250.00
90	Concrete Washout Structure	2.00	EA	\$925.00	\$1,850.00	\$500.00	\$1,000.00
91	Removal of Existing Structure at Sta. 12+45 (617 SF)	1.00	LS	\$35,000.00	\$35,000.00	\$52,000.00	\$52,000.00
92	Asbestos Assessment	1.00	LS	\$1,800.00	\$1,800.00	\$1,500.00	\$1,500.00
93	Pile Excavation in Soil	94.00	LF	\$210.00	\$19,740.00	\$375.00	\$35,250.00
94	Pile Exacavation Not in Soil	46.00	LF	\$210.00	\$9,660.00	\$1,000.00	\$46,000.00
95	Unclassified Structure Excavation at Sta. 12+45	1.00	LS	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
96	Class A Concrete (Bridge)	43.20	CY	\$1,200.00	\$51,840.00	\$1,200.00	\$51,840.00
97	Bridge Approach Slabs, Station 12+45	1.00	LS	\$33,000.00	\$33,000.00	\$45,000.00	\$45,000.00
98	Reinforcing Steel (Bridge)	5,272.00	LB	\$2.00	\$10,544.00	\$3.51	\$18,504.72
99	Pile Driving Equipment Setup for HP 12X53 Steel Piles	14.00	EA	\$0.01	\$0.14	\$50.00	\$700.00
100	HP 12X53 Steel Piles	170.00	LF	\$300.00	\$51,000.00	\$70.00	\$11,900.00
101	Vertical Concrete Barrier Rail	90.25	LF	\$398.00	\$35,919.50	\$200.00	\$18,050.00
102	Rip Rap Class II (2'-0" Thick)	180.00	Ton	\$56.00	\$10,080.00	\$105.00	\$18,900.00
103	Geotextile for Drainage	200.00	SY	\$2.50	\$500.00	\$2.25	\$450.00
104	Elastomeric Bearings	1.00	LS	\$6,456.91	\$6,456.91	\$4,500.00	\$4,500.00
105	3'-0" X 1'-9" Prestressed Conc. Cored Slabs	495.00	LF	\$225.00	\$111,375.00	\$300.00	\$148,500.00
					Q1 154 144 44	•	¢1 222 062 16

\$1,154,144.44

\$1,222,863.16

Bidder No. 1: DELLINGER INC

Bidder No. 2: EASTERN STRUCTURES LLC

Bidder No. 3: HUNTING CREEK CONSTRUCTION

INC

Bidder No. 4: FSC II LLC DBA FRED SMITH COMPANY

Bidder No. 5: SMITH-ROWE, LLC

BID TABULATIONS

Contract No:DH00344

WBS No:17BP.8.R.992

County:Randolph Bridge No. 38 in Randolph County

Bid Opening Date: 5/24/2022 at 2:00 PM

				SMITH-R	OWE, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$63,750.00	\$63,750.00
2	Construction Surveying	1.00	LS	\$12,500.00	\$12,500.00
3	Supplemental Clearing and Grubbing	1.00	Acre	\$1.00	\$1.00
4	Type II Modified Approach Fill, Station -L- 12+45	1.00	LS	\$7,000.00	\$7,000.00
5	Undercut Excavation	200.00	CY	\$18.00	\$3,600.00
6	Grading	1.00	LS	\$113,000.00	\$113,000.00
7	Select Granular Material	100.00	CY	\$1.00	\$100.00
8	Geotextile for Soil Stabilization	100.00	SY	\$1.00	\$100.00
9	Foundation Conditioning Material, Minor Structures	20.00	Tons	\$1.00	\$20.00
10	Foundation Conditioning Geotextile	50.00	SY	\$1.00	\$50.00
11	12" Drainage Pipe	12.00	LF	\$55.00	\$660.00
12	15" Drainage Pipe	12.00	LF	\$55.00	\$660.00
13	18" Drainage Pipe	68.00	LF	\$59.00	\$4,012.00
14	15" Side Drain Pipe	28.00	LF	\$55.00	\$1,540.00
15	18" RC Pipe Culverts, Class III	16.00	LF	\$59.00	\$944.00
16	15" RC Pipe Culverts, Class IV	8.00	LF	\$55.00	\$440.00
17	Pipe Clean Out	1.00	EA	\$700.00	\$700.00
18	Geotextile for Pavement Stabilization	100.00	SY	\$5.00	\$500.00
19	Incidental Stone Base	100.00	Tons	\$34.00	\$3,400.00
20	Incidental Milling	170.00	SY	\$11.00	\$1,870.00

				SMITH-R	OWE, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID
21	Asphalt Conc. Base Course, Type B25.0C	110.00	Tons	\$130.00	\$14,300.00
22	Asphalt Conc. Intermediate Course, Type I19.0C	120.00	Tons	\$130.00	\$15,600.00
23	Asphalt Conc. Surface Course, Type S9.5B	190.00	Tons	\$130.00	\$24,700.00
24	Asphalt Binder for Plant Mix PG 64-22	25.00	Tons	\$960.00	\$24,000.00
25	Right-of-Way Markers	9.00	EA	\$350.00	\$3,150.00
26	Subdrain Excavation	33.60	CY	\$1.00	\$33.60
27	Geotextile for Subsurface Drain	200.00	SY	\$1.00	\$200.00
28	Subdrain Coarse Aggregate	33.60	CY	\$1.00	\$33.60
29	6" Perforated Subdrain Pipe	200.00	LF	\$1.00	\$200.00
30	Subdrain Pipe Outlet	1.00	Each	\$1.00	\$1.00
31	6" Outlet Pipe	6.00	LF	\$1.00	\$6.00
32	Pipe Collars	0.80	CY	\$4,400.00	\$3,520.00
33	Masonary Drainage Structures	5.00	Each	\$2,000.00	\$10,000.00
34	Frame with Two Grates, Std 840.29	4.00	Each	\$450.00	\$1,800.00
35	Manhole Frame with Cover, Std 840.54	1.00	Each	\$450.00	\$450.00
36	Shoulder Berm Gutter	45.00	LF	\$85.00	\$3,825.00
37	2'-6" Concrete Gutter	80.00	LF	\$65.00	\$5,200.00
38	Steel Beam Guardrail	50.00	LF	\$26.00	\$1,300.00
39	Additional Guardrail Posts	5.00	Each	\$1.00	\$5.00
40	Guardrail Anchor Units, Type III	4.00	Each	\$2,487.50	\$9,950.00
41	Guardrail End Units, Type TL-2	4.00	Each	\$3,200.00	\$12,800.00
42	Rip Rap, Class I	2.00	Ton	\$200.00	\$400.00
43	Rip Rap, Class II	200.00	Ton	\$50.00	\$10,000.00
44	Rip Rap, Class A	6.00	Ton	\$82.00	\$492.00
45	Rip Rap, Class B	1.00	Ton	\$350.00	\$350.00
46	Geotextile For Drainage	254.00	SY	\$2.00	\$508.00
47	Temporary Traffic Control	1.00	LS	\$7,800.00	\$7,800.00
48	Paint Pavement Marking Lines (4")	2,800.00	LF	\$1.65	\$4,620.00
49	Permanent Raised Pavement Markers	5.00	EA	\$10.00	\$50.00
50	2" Water Line	5.00	LF	\$1,112.19	\$5,560.95
51	6" Water Line	335.00	LF	\$463.27	\$155,195.45
52	Ductile Iron Water Pipe Fittings	1,410.00	LB	\$19.50	\$27,495.00
53	6" Valve	2.00	EA	\$3,093.21	\$6,186.42

				SMITH-ROWE, LLC		
TEM NO.	ITEM	QUANTITY	UNITS	SMITH-RO	OWE, LLC AMOUNT BID	
		39.00	LF	\$1,767.15	\$68,918.85	
55	8" Sanitary Gravity Sewer	132.00		\$1,787.13	· · · · · · · · · · · · · · · · · · ·	
55 56	12" Sanitary Gravity Sewer	2.00			\$143,536.80	
30	4' Dia. Utility Manhole	2.00	EA	\$12,508.14	\$25,016.28	
57	Utility Manhole Wall, 4' Dia.	12.30	LF	\$313.68	\$3,858.26	
58	Abandon 6" Utility Pipe	79.00	LF	\$35.37	\$2,794.23	
59	Abandon 8" Utility Pipe	155.00	LF	\$36.55	\$5,665.25	
60	Abandon 10" Utility Pipe	46.00	LF	\$18.33	\$843.18	
61	Abandon 12" Utility Pipe	87.00	LF	\$18.33	\$1,594.71	
62	Remove Utility Manhole	1.00	EA	\$1,236.70	\$1,236.70	
63	16" Encasement Pipe	59.00	LF	\$936.31	\$55,242.29	
64	Sewer Bypass Pumping	1.00	LS	\$36,627.98	\$36,627.98	
65	Temporary Silt Fence	500.00	LF	\$2.50	\$1,250.00	
66	Stone For Erosion Control, Class A	120.00	Ton	\$1.00	\$120.00	
67	Stone For Erosion Control, Class B	155.00	Ton	\$1.00	\$155.00	
68	Sediment Control Stone	115.00	Ton	\$1.00	\$115.00	
69	Temporary Mulching	0.50	Acre	\$500.00	\$250.00	
70	Seed for Temporary Seeding	100.00	LB	\$2.00	\$200.00	
71	Fertilizer For Temporary Seedings	0.50	Ton	\$600.00	\$300.00	
72	Temporary Slope Drains	200.00	LF	\$7.00	\$1,400.00	
73	Safety Fence	320.00	LF	\$2.00	\$640.00	
74	Silt Excavation	190.00	CY	\$7.00	\$1,330.00	
75	Matting for Erosion Control	60.00	SY	\$2.20	\$132.00	
76	Coir Fiber Mat	100.00	SY	\$3.50	\$350.00	
77	Permanent Soil Reinforcement Matting	100.00	SY	\$3.80	\$380.00	
78	1/4" Hardware Cloth	285.00	LF	\$3.00	\$855.00	
79	Wattle Barrier	41.00	LF	\$6.00	\$246.00	
80	Polyacrylamide (PAM)	25.00	LB	\$3.00	\$75.00	
81	Seeding and Mulching	0.50	ACR	\$2,000.00	\$1,000.00	
82	Mowing	0.50	ACR	\$75.00	\$37.50	
83	Seed for Repair Seeding	50.00	LB	\$2.00	\$100.00	
84	Fertilizer for Repair Seeding Bid_Tab	0.25	Ton	\$600.00	\$150.00 Page	

				SMITH-R	OWE, LLC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID
85	Seed For Supplemental Seeding	50.00	LB	\$2.00	\$100.00
86	Fertilizer Topdressing	0.25	Ton	\$600.00	\$150.00
87	Impervious Dike	183.00	LF	\$19.00	\$3,477.00
88	Specialized Hand Mowing	10.00	MHR	\$1.00	\$10.00
89	Response for Erosion Control	25.00	EA	\$1.00	\$25.00
90	Concrete Washout Structure	2.00	EA	\$435.00	\$870.00
91	Removal of Existing Structure at Sta. 12+45 (617 SF)	1.00	LS	\$54,650.00	\$54,650.00
92	Asbestos Assessment	1.00	LS	\$950.00	\$950.00
93	Pile Excavation in Soil	94.00	LF	\$261.23	\$24,555.62
94	Pile Exacavation Not in Soil	46.00	LF	\$726.64	\$33,425.44
95	Unclassified Structure Excavation at Sta. 12+45	1.00	LS	\$2,000.00	\$2,000.00
96	Class A Concrete (Bridge)	43.20	CY	\$1,239.19	\$53,533.01
97	Bridge Approach Slabs, Station 12+45	1.00	LS	\$34,950.00	\$34,950.00
98	Reinforcing Steel (Bridge)	5,272.00	LB	\$2.00	\$10,544.00
99	Pile Driving Equipment Setup for HP 12X53 Steel Piles	14.00	EA	\$1.00	\$14.00
100	HP 12X53 Steel Piles	170.00	LF	\$79.17	\$13,458.90
101	Vertical Concrete Barrier Rail	90.25	LF	\$172.79	\$15,594.30
102	Rip Rap Class II (2'-0" Thick)	180.00	Ton	\$46.00	\$8,280.00
103	Geotextile for Drainage	200.00	SY	\$2.00	\$400.00
104	Elastomeric Bearings	1.00	LS	\$2,275.00	\$2,275.00
105	3'-0" X 1'-9" Prestressed Conc. Cored Slabs	495.00	LF	\$196.13	\$97,084.35

\$1,275,345.67

Bidder No. 1: DELLINGER INC Bidder No. 2: EASTERN STRUCTURES LLC Bidder No. 3: HUNTING CREEK CONSTRUCTION INC Bidder No. 4: FSC II LLC DBA FRED SMITH COMPANY Bidder No. 5: SMITH-ROWE, LLC